# RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorizing Acceptance and Use of the Native American Access to Technology Program, Phase One for public access to computing in the Venito Garcia Library and Archives from the Bill and Melinda Gates Foundation)

**RESOLUTION NO.** 01-105

1	WHEREAS, the Tohono O'odham Legislative Council has historically supported the Venito Garcia
2	Library and Archives, the library agency of the Tohono O'odham Nation; and
3	WHEREAS, the Tohono O'odham Legislative Council supports the Venito Garcia Library and
4	Archives' application on behalf of the Tohono O'odham Nation for a Phase One
5	donation from the Native American Access to Technology Program of the Bill and
6	Melinda Gates Foundation, and agrees to the following:
7	1. That the grant will be used to address information access needs of the community;
8	2. That the granted computers and equipment will be available to all community
9	members during regular library hours;
10	3. That grant funds will be an increase to other current and anticipated technology
11	funding and will not replace previously budgeted items; and
12	4. That efforts will be made to ensure that all computers and peripheral equipment
13	are kept fully operational and appropriately supplied, and that there will be
14	adequate public funding for the proper maintenance, security, and eventual
15	replacement of the equipment provided by the grant.
16	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council accepts the
17	Phase One donation from the Gates Foundation authorizing the use of the provisions
18	of the grant for the Library and Archives (computers, access, and additional
19	computing equipment), and agrees to the following conditions:
20	1. That the grant will be used to address information access needs of the community;
21	2. That the granted computers and equipment will be available to all community
22	members during regular library hours;
23	3. That grant funds will be an increase to other current and anticipated technology
24	funding and will not replace previously budgeted items; and
25	4. That efforts will be made to ensure that all computers and peripheral equipment
26	are kept fully operational and appropriately supplied, and that there will be
27	adequate public funding for the proper maintenance, security, and eventual
28	replacement of the equipment provided by the grant.

		the Native American Access to Technology Program, Phase One ne Venito Garcia Library and Archives from the Bill and Melinda						
1 2		sed by the Tohono O'odham Legislative Council on the $06^{TH}$ . Day which a quorum was present with a vote of 2,165.5 FOR; -0-						
$\frac{2}{3}$		05] ABSENT, pursuant to the powers vested in the Council by						
4	Section 1 (f) of Article VI of the Cons	titution of the Tohono O'Odham Nation, adopted by the Tohono						
5		986; and approved by the Acting Deputy Assistant Secretary -						
6 7	Indian Affairs (Operations) on Mar Stat. 984).	rch 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48						
8	Stat. 707).							
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
10		$\square$						
11		the						
12		Dennis Ramon, Legislative Chairman						
13								
14		7- day of manch , 20 01						
15								
16	ATTEST:							
17								
18	Jul and							
19	Julianna Saraficio, Acting Legislat	na Saraficio, Acting Legislative Secretary						
20								
21	Ob day of March	, 20 <u>07</u> .						
22								
23	Said Resolution was submitted for	approval to the office of the Chairman of the Tohono O'Odham						
24		mansh, 20 01_at 4:45 o'clock, P.M.,						
25		on 5 of Article VII of the Constitution and will become effective						
26		n his approval or upon his failure to either approve or disapprove it within 48 hours of						
27	submittal.							
28 20								
29 22		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
30								
31								
32		for						
33		Dennis Ramon, Legislative Chairman						
34 25								
35 36								
30 37								
38	[ ] APPROVED	on the day of, 20						
39		on the duy of, 20						
40	[ ] DISAPPROVED	at o'clock,M.						
41		EXCEEDED 48 HOURS						
42 43								
44		EDWARD D. MANUEL, Chairman						
45		TOHONO O'ODHAM NATION						

#### **RESOLUTION NO. 01-105**

(Authorizing Acceptance and Use of the Native American Access to Technology Program, Phase One for public access to computing in the Venito Garcia Library and Archives from the Bill and Melinda Gates Foundation)

Page 3 of 3

Returned to the Legislative Secretary on the 972 day of

March\_, 20 01, at 4:50 o'clock, p.M.

Jenne M. Son for

Julianna Saraficio, Acting Legislative Secretary

# RESOLUTION NO. 01-105

### ACTION: AUTHORIZING ACCEPTANCE AND USE OF THE NATIVE AMERICAN ACCESS TO TECHNOLOGY PROGRAM, PHASE ONE FOR PUBLIC ACCESS TO COMPUTING IN THE VENITO GARCIA LIBRARY AND ARCHIVES FROM THE BILL AND MELINDA GATES FOUNDATION

# MOVED: COUNCILWOMAN RITA MARTINEZ

### SECOND: COUNCILWOMAN EVELYN JUAN

DATE: MARCH 06, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	X			x
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE	186.35	x			
	2. EVELYN JUAN	186.35	x			
SCHUK TOAK	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	x			
165.9	2. DENNIS RAMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	() 2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	х			x
GU ACHI	1. CAMILLUS LOPEZ	104.8	x			
209.6	(Louis Johnson) 2. ALEX J. RAMON ()	104.8	x			
PISINEMO	1. BARBARA SALVICIO	78.4	X			
156.8	(Alex Antone) 2. JOHNSON JOSE ()	78.4	x			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	x			х
128.1	( ) 2. GLORIA RAMIREZ ( )	64.05	x			
GU VO	1. FERN SALCIDO	80.0	x			x
160.0	( ) 2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN	1. SHIRLEY MOLINA	79.05	x			x
158.1	( ) 2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	( ) 2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
T	OTAL	2,165.5	2,165.5	-0-	-0-	[05]